Tel: +44 (0)1394 380307

® Fax: +44 (0)1394 385156
' n o s E-mail: info@lindos.co.uk
Lindos Electronics, Saddlemakers Lane

Melton, Woodbridge, Suffolk, IP12 1PP, UK

LA100 Application Note 5:
Adding a Dummy Unit

Use DU1, the contents are as follows:-
e 1 x Dummy Unit.

e 1 x Double width top cover fitted with two heat sink plates and both speaker grilles
blanked off.

e 1 x Double width bottom cover.

e 2 x End brackets.

e 2 X Spacer plates.

e 8x M3 x 10 pan head pozidriv chrome screws.
e 4 x M4 x 12 pan head pozidriv stainless screws.
e 4 x M4 nuts.

DO NOT REMOVE THE PLASTIC FILM FROM THE SPACERS — IT ADDS THICKNESS

1. If the “real” unit is a LA102, decide whether it is to be on the left or right hand side
and then peel off the appropriate tape blanking the speaker holes on the top cover.

2. Remove the stands from the units by springing them inwards.

3.  Remove the screws from the blank side of the unit and pull off the covers.

4. Lay the unit and dummy uit side by side on a flat surface.

5. Link units loosely with 2 x M4 screws and nuts through the spacer plates.

6. Turn the units over carefully, and repeat for the bottom screws, using the front most
of the two holes at the front of the chassis. This leaves the option of refitting the
stands if required.

7. Turn the units back, align carefully and tighten the fixing screws.

8. Tighten bottom fixing screws

9. Place the covers in position.

10. Stand the unit on its side and fix the end plate in position with 4 x M3 screws.

11. Repeat for the other end.

CMS, Last Updated 30.07.2003

7))
()
s
@)
Z
-
@)
—
g}
=
Q
o
<
7))
=
-
e
| -
-
O
@
LLI
7))
@)
[®)
=
—

l—lndos Copyright Lindos Electronics




